	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production		Value
FORESTRY							
Pulpwood							
Pine					50,861	cords	
Hardwood					11,043	cords	
Pulpwood (Total)					61,904		
Chip & Saw					68,105	cords	
Saw Timber							
Pine					12,657,245	board feet	
Hardwood					1,899,990	board feet	
Saw Timber (Total)					14,557,235		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill							\$17,281,113
Total Forestry Stumpage							\$9,845,233
Christmas Trees	*				50	trees	\$2,000
Pine Straw	*				620	bales (40 lbs.)	\$1,240
Forestry (Total)						`	\$17,284,353
FRUITS							
Blackberries	*	2.0	1,600.00		3,200	pints	\$3,200
Blueberries	9	10.0	1,000.00		10,000	lbs.	\$12,500
Figs	*	2.0	580.00		1,160	lbs.	\$1,392
Strawberries	50	275.0	1,850.00		508,750	flats	\$4,578,750
Fruits (Total)		289.0					\$4,595,842
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	20,400.0	5.00	Yield / sq. ft.	102,000	lbs.	\$137,700
Greenhouse Vegetables (Total)		20,400.0					\$137,700
HOME GARDENS NURSERY CROPS	2,500						\$750,000
Fruit and Nut Trees	*					acre	\$495,000

Page 1 of 6

PLANT ENTERPRISES PRODUCTION							
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
NURSERY CROPS							
Floraculture & Bedding Plants	16				acre	\$385,000	
Woody Ornamentals	13				acre	\$5,445,000	
Foliage Plants	8				acre	\$990,000	
Nursery Crops (Total) VEGETABLES						\$7,315,000	
Broccoli (Fresh)	*	3.0	300.00	900	cartons (20 lbs.)	\$13,500	
Cabbage							
Fresh	*	40.0	740.00	29,600	sacks (50 lbs.)	\$207,200	
Cabbage (Total)		40.0				\$207,200	
Cantaloupe	*	5.0	135.00	675	cartons (40 lbs.)	\$10,125	
Cauliflower	*	1.0	400.00	400	cartons (20 lbs.)	\$6,000	
Collards)		
Fresh	8	10.0	550.00	5,500	doz. bunches	\$38,500	
Collards (Total)		10.0				\$38,500	
Cucumber							
Fresh	6	30.0	260.00	7,800	bu. (50 lbs.)	\$78,000	
Cucumber (Total)		30.0				\$78,000	
Eggplant Lima Beans	*	10.0	720.00	7,200	bu. (33 lbs.)	\$108,000	
Fresh	*	50.0	75.00	3,750	bu. (32 lbs.)	\$112,500	
Lima Beans (Total)		50.0		-)		\$112,500	
Mustard (Fresh)	8	20.0	600.00	12,000	doz. bunches	\$84,000	
Okra (Fresh)	*	7.0	210.00	1,470		\$29,400	

Page 2 of 6

PLANT ENTERPRISES PRODUCTION							
	umber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
VEGETABLES							
Green Onions	*	1.0	910.00	910	lbs.	\$1,365	
Peppers							
Bell	*	50.0	1,500.00	75,000	bu. (28 lb.)	\$1,125,000	
Peppers (Total)		50.0				\$1,125,000	
Pumpkin (Fresh)	*	7.0	60.00	420	cwt.	\$8,400	
Southern Peas (Fresh)	*	50.0	100.00	5,000	bu. (24 lbs.)	\$100,000	
Squash (Fresh)							
Yellow Squash	7	5.0	300.00	1,500	bu. (45 lbs.)	\$18,000	
Squash (Fresh) (Total)		5.0				\$18,000	
Tomatoes (Field)	7	140.0	1,800.00	252,000	lugs (20 lbs.)	\$3,780,000	
Vegetables (Total)		429.0	·			\$5,719,990	
TOTAL ALL PLANT ENTERPR	RISES					\$35,802,885	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE							
Catfish (Farm)	6	20 Acres in Prod.	210,000	lbs.	\$119,700		
Minnows	8	Acres in Prod.	15,000	lbs.	\$48,750		
Alligators (Farm)			37,904	ft.	\$644,370		
Soft-shell Crabs	16		6,400	doz	\$128,000		
Other Species	*	15 Acres in Prod.	2,200,000	lbs.	\$1,760,000		
Aquaculture (Total)					\$2,700,820		
FRESHWATER FISHERIES							
Catfish (Wild)	20		40,000	lbs.	\$18,680		
Freshwater Fisheries (Total)					\$18,680		

Page 3 of 6

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
MARINE FISHERIES							
Shrimp	129			45,000	lbs.	\$53,820	
Crabs	70			1,258,296	lbs.	\$807,826	
Marine Fisheries (Total)						\$861,646	
FUR ANIMALS				2,878	pelts	\$15,253	
ALLIGATORS (WILD)				1,785	ft.	\$39,270	
HUNTING LEASES	185	150,000	No. Acres Leased		acre	\$1,050,000	
HONEY	8	40	No. Hives	4,700	lbs.	\$6,345	
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES			-		\$4,692,014	

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			2,770	head	\$1,006,535
400-500 lbs.			1,370	head	\$572,667
500-600 lbs.			1,200	head	\$551,364
600-700 lbs.			860	head	\$447,200
Steer Calves (Total)					\$2,577,766
Heifer Calves					
300-400 lbs.			2,125	head	\$680,234
400-500 lbs.			1,320	head	\$497,594
500-600 lbs.			980	head	\$417,402
600-700 lbs.			575	head	\$280,313
Heifer Calves (Total)					\$1,875,542
					Page 4 of 6

	ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
CATTLE & CALVES							
Yearling Cattle							
600-700 lbs.				700	head	\$364,000	
700-800 lbs.				650	head	\$365,625	
Yearling Cattle (Total)						\$729,625	
Cow-Calf Pairs				700	pair	\$504,000	
Cull Cows					head	\$1,056,720	
Cull Bulls				115	head	\$84,008	
Cattle & Calves (Total)	474	18,500	No. Cows			\$6,827,660	
DAIRY							
Dairy Cows							
Milk	145	17,610	No. Adult Cows	211,432,387	pounds	\$27,465,067	
Cull Cows				4,403	head	\$2,138,207	
Bull Calves				9,686	head	\$266,365	
Dairy Cows (Total)						\$29,869,639	
Dairy (Total)						\$29,869,639	
HORSES							
Brood Mares							
Show Horses	20	56	No. Brood Mares	40	head	\$120,000	
Recreation Horses	600	620	No. Brood Mares	430	head	\$645,000	
Brood Mares (Total)						\$765,000	
Stud Fees							
Show Horses		4	No. Stallions	50	mares bred	\$75,000	
Recreation Horses		30	No. Stallions	150	mares bred	\$15,000	
Stud Fees (Total)						\$90,000	
Show Horses	20				head	\$240,000	
Recreation Horses	600			650	head	\$650,000	
Horses (Total)						\$1,745,000	

Page 5 of 6

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
RABBITS						
Fryers	15	100,000 No. Animals	350,000	lbs.	\$280,000	
Does	15	2,000 No. Animals		lbs.		
Rabbits (Total)					\$280,000	
GOATS						
Show Goats			30	head	\$4,500	
Slaughter Goats			275	head	\$23,375	
Stocker Goats			160	head	\$10,400	
Cull Goats			100	head	\$4,200	
Goats (Total)	20	450 No. Does			\$42,475	
SWINE						
Show Pigs			15	head	\$4,500	
Feeder Pigs			45	head	\$810	
Slaughter Hogs			20	head	\$2,470	
Culls			10	head	\$1,100	
Swine (Total)	*	12 No. Sows			\$8,880	
TOTAL ALL ANIMAL	ENTERPRISES				\$38,773,654	
TANGIPAHOA PAR	ISH TOTAL				\$79,268,553	